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w_lectl 1:
@estﬁng "normal histogram" and select Images. Choose the first image you see, and tell me how

wide it is. Include the image itself in your submission.
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hw_lect2 1
\l?ome—vpvQZ examples for each of the three types of variables (continuous, discrete, categorical). As

discussed in this lecture, the type of a variable cannot be determined without the actual data, ie. the type

depends on the specifics of data. Here, however, ignore that complexity, and base your answer on theoretical
considerations (ie. based on what you know about that variable).
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Consfruct a data set with the following specifications ...
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( hw_lect3 1 >
or each of the following shapes, come-up with at least one example of a random variable x (continuous or

discrete) whose histogram you expect to be approximately

a) Bell-shaped (symmetric)

b) Skewed (one way or the other)

¢) Exponential-looking

d) Bimodal

Make sure you describe/define the random variable clearly (like we did in the lecture), and explain in words
why you expect the particular shape. If you have data to support your expectation, then show the histogram.
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hw lect3 2
Were are many examples of random variables that, when considered as quantitative, have an

exponential-looking histogram. Identify one of the random variables, and plot its relative frequency
histogram. Hint: The relative frequencies are, in fact, in this lecture, too.
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42% 27% 15% ||18% |13% |13% 4.22
Amount learned: 39% 27% 20% |[8% ||13% ||2% 409
Relevance and usefulness of homework: ||37% 17% 27% |[|12%||3% ||3% 3.75

For median calculation: 5 =Excellent 4 = Very Good 3 =Good 2=Fair 1=Poor 0= Very Poor
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